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A ODO0O0OooooOoooon

#include<stdio.h>
#include<math.h>

struct parameters {
double xia,xib,a,b;

};

int evolution (double *xo_p, double *yo_p, double *xn_p,

double *yn_p, struct parameters *param_p);

int main()

{
FILE *fpl,x*fp2,*fp3;
int i=0,n;
double xol,yol,xnl,ynl,x02,y02,xn2,yn2,L;
struct parameters param;

/*initial condition*/
printf("xia:");scanf ("}1f",&(param.xia));
printf("xib:");scanf ("%1f",&(param.xib));
printf("a:");scanf ("}1f",&(param.a));

printf("xol:");scanf ("%1f",&xo0l);
printf("yol:");scanf ("%1f",&yol);

printf("xo02:");scanf ("%1f",&x02);
printf("yo2:");scanf ("%1f",&yo2);

printf("i:");scanf("%d",&n);

param.b=1.0-param.a;
printf ("b=f\n",param.b);
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fpl = fopen("paikonel.dat","w");
fp2 = fopen("paikone2.dat","w");
fp3 = fopen("paikone3.dat","w");

/*write initial condition to filex/

fprintf (fpl,"%e %e\n",xol,yol);

fprintf (fp2,"%e %e\n",xo02,yo02);

L=sqrt ((x02-x01) *(x02-x01) +(yo2-yol) *(yo2-yol));
fprintf (fp3,"0 %e\n",L);

/*calculationx*/

for(i=1;i<=n;i++){
evolution(&xol,&yol,&xnl,&ynl,&param) ;
fprintf (fpl,"%e %e\n",xnl,ynl);
printf ("%e %e\n",xnl,ynl);
x0l1=xn1l;

yol=ynl;

evolution(&x02,&yo02,&xn2,&yn2,&param) ;
fprintf (fp2,"%e %e\n",xn2,yn2);

printf ("%e %e\n",xn2,yn2);

X02=xn2;

yo2=yn2;

/*distance of 1 to 2%/
L=sqrt ((xn2-xn1)*(xn2-xn1)+(yn2-ynl)*(yn2-ynl));

fprintf (£fp3,"%d %e\n",i,L);
printf("%d %e\n",i,L);

fclose(fpl);

fclose(fp2);
fclose(£fp3);
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/*paikone program*/
int evolution (double *xo0_p, double *yo_p, double *xn_p,

double *yn_p, struct parameters *param_p){

if (0 <= *yo_p && *yo_p <= param_p->a){

*Xn_p = param_p->xia * *xo_p;
xyn_p = *yo_p / param_p->a;
return O;

}
else if(param_p->a < *yo_p && *yo_p <= 1){
*xn_p = 0.5 + param_p—->xib * *xo_p;

*yn_p = (*yo_p - param_p->a ) / param_p->b;
return O;
}
else {
printf ("Error.\n");
return 1;
}
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B 00000000 0OO0O0OD0OO0OOOOO

#include<stdio.h>
#include<math.h>
#include<stdlib.h>

struct parameters {
double xia,xib,a,b;

};

int evolution (double *xo0_p, double *yo_p, double *xn_p,

double *yn_p, struct parameters *param_p);

int main()
{
FILE *fpb5,*fp6,*fp7;
int i,j,n,k,1;
double x01=0.0,y01=0.0,xn1=0.0,yn1=0.0;
double x02=0.0,y02=0.0,xn2=0.0,yn2=0.0;
double sumcallambda=0.0,sumcallambda2=0.0,S=0.0,E=0.0;
double dt=0.0,Lfirst=0.0,L=0.0;
double callambda=0.0,thelambda=0.0,avlambda=0.0;
struct parameters param,

/* [initial condition] */

printf("dt;");scanf ("/1f",&dt);
printf("a-loop:");scanf ("%d",&1l);
printf("initialcondition-loop:") ;scanf ("%d",&n);

fpbs = fopen("paikonelambda2.dat","w");
fp6 = fopen("paikonelambda3.dat","w");
fp7 = fopen("paikoneErrorl.dat","w");

for (k=0;k<1;k++) {
param.a=(1.0/1)*k;
param.b=1.0-param.a;
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sumcallambda=0.0;
sumcallambda2=0.0;
5=0.0;

E=0.0;

for(j=0;j<n;j++) {

param.xia=((double)rand()/RAND_MAX)*(0.5);
param.xib=((double)rand () /RAND_MAX)*(0.5);

x01=((double)rand () /RAND_MAX)*(1.0-dt);
yol=((double)rand () /RAND_MAX)*(1.0-dt);

x02=x01+dt;

yo2=yol+dt;

/* [first distance of 1to2] */
Lfirst=dt*sqrt(2);

/* [calculation] */
for(i=0;i<22;i++){

evolution(&xol,&yol,&xnl,&ynl,&param) ;

x0l1=xn1l;

yol=ynl;
evolution(&x02,&yo02,&xn2,&yn2,&param) ;

X02=xXn2;
yo2=yn2;

/* [distance of 1 to 2] */

L=sqrt ((xn2-xn1) * (xn2-xn1)+(yn2-yn1)*(yn2-ynl) ) ;
+
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callambda=(log(L)-log(Lfirst))/i;

sumcallambda+=callambda;
sumcallambda2+=callambda*callambda;

}

avlambda=sumcallambda/n;

/* printf ("%e %e\n",param.a,avlambda); */
fprintf (fp5,"%e %e\n",param.a,avlambda) ;

thelambda=-(param.a)*log(param.a)
-(param.b) *log(param.b) ;

/* printf ("%e %e\n",param.a,thelambda); */

fprintf (fp6,"%e %e\n",param.a,thelambda) ;

/* [Error of lambda] */

g=

sqrt ((sumcallambda2-n* (avlambda*avlambda))/(n-1));
E=S/(sqrt(n));

/* printf("%e %e\n",param.a,E); */

fprintf (fp7,"%e %e %e\n",param.a,avlambda,E);

fclose(£fp5);
fclose(£fp6);
fclose(fp7);

/* [paikone program] */
int evolution (double *xo_p, double *yo_p, double *xn_p,

double *yn_p, struct parameters *param_p){

if(0 <= *yo_p && *yo_p <= param_p->a){

*Xn_p = param_p->xia * *xXo_p;
xyn_p = *yo_p / param_p->a;
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return O;

}

else if (param_p->a < *yo_p && *yo_p <= 1){
*xn_p = 0.5 + param_p—>xib * *xo_p;
*yn_p = (*yo_p - param_p->a ) / param_p->b;
return O;

}

else {
printf ("Error.\n");
return 1;
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C ooobouoooooooo

#include<stdio.h>

main()

{
FILE x*fp;
int i,n;

double dt,x,y,z,xx,yy,2Z,R;
dt=0.001;

printf("x:");scanf ("%1f",&x);
printf("y:");scanf ("%1f",&y);
printf("z:");scanf ("%1f",&z);
printf("R:");scanf ("%1f",&R);
printf("i:");scanf ("%d",&n);

printf("Initial conditions\n
x=%f, y=htf, z=hf\n",x,y,2);

fp = fopen("lorentz4.dat", "w");

for(i=0;i<n;i++){
xx=x+(-10* (x-y) ) *dt;
yy=y+ (-x*z+R*x-y) *dt;
zz=z+(x*y-2.66667*z) *dt ;
X=XX;
Y=Yy
z=2Z;
fprintf (fp, "Wf %f %f\n",x,y,z);
}
fclose(fp);
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D 00b00ouooodoodooooooon

#include<stdio.h>
#include<math.h>
#include<stdlib.h>

struct parameters {
long double R;
I

int equations (long double *xo_p, long double *yo_p,
long double *zo_p, long double *xn_p,

long double *yn_p, long double *zn_p,

long double *dt_p, struct parameters *param_p);

long double abs_ld(long double x);

int main()
{
FILE *fp4;
int 1=0, j=0,n=0,m=0;
long double dt,delta,k=0.0;
double a=0.0,b=0.0;
long double x01=0.0,y01=0.0,z01=0.0,
x02=0.0,y02=0.0,202=0.0;
long double xn1=0.0,yn1=0.0,zn1=0.0,
xn2=0.0,yn2=0.0,zn2=0.0;
long double D=0.0,L[21];
long double lambda=0.0,avlambda=0.0,avlambda2=0.0;
/* sumlambda=0.0,sumlambda2=0.0 */
long double S=0.0,E=0.0;
struct parameters param;

fp4 = fopen("LyaExp_lorentzmodeld.dat","w");
printf("initialcondition-loop:") ;scanf ("%d",&m) ;
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printf ("parameter.R-loop a to b\n");
printf("a:");scanf ("%1f",&a);
printf("b:");scanf ("%1f",&b);

delta=0.0001;
printf("difference:%e\n", (double)delta);

n=1000000;
printf ("equation-loop:%d\n",n);

dt=0.0001;
printf("dt = %e\n", (double)dt);

for(k=a;k<b;k+=0.01) {

param.R=k;

avlambda=0.0;
avlambda2=0.0;
5=0.0;

E=0.0;

for(j=0;j<m;j++) {
x01=((long double)rand()/RAND_MAX)*100;
yol=((long double)rand()/RAND_MAX)*100;
zol=((long double)rand()/RAND_MAX)*100;
xo2=xo0l+delta;
yo2=yol+delta;
zo2=zol+delta;
L[0]=delta*sqrt(3);
/*calculation*/

for(i=1;i<=n;i++) {
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equations(&xol,&yol,&zol,&xnl,&ynl,&znl,&dt ,&param) ;
x0l1=xn1l;
yol=ynl;
zol=znl;

equations (&x02,&y02,&z02,&xn2,&yn2,&zn2,&dt ,&param) ;
X02=xXn2;
yo2=yn2;
Z02=zn2;

/*distance of 1to 2%/

D=sqrt ((xn2-xn1)*(xn2-xnl)
+(yn2-yn1) * (yn2-yn1)
+(zn2-zn1)*(zn2-znl1));

if (D<0.00000000000001) {
break;
}
if (1%50000==0) {
L[i/50000]=
sqrt ((xn2-xn1) * (xn2-xn1)
+(yn2-yn1) *(yn2-ynl)

+(zn2-zn1)*(zn2-znl)) ;

}

/*calculation of lambdax/

if(L[0]<D) {
lambda=(log(D)-1log(L[0]))/(0.08*n) ;

} else {
lambda=(1log(L[i/50000])-1log(L[(i/50000)-1]))/50000;

}

/% sumlambda+=1lambda;

sumlambda2+=lambda*lambda; */

avlambda += (lambda - avlambda) / (j+1);
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avlambda2 += (lambda*lambda - avlambda2 ) /(j+1);

}

/* avlambda=sumlambda/m; */

/*Error of lambda */
/* S=sqrt ((sumlambda2-m*(avlambda*avlambda))/(m-1));
E=S/(sqrt(m)); =/

E=sqrt(abs_1d( avlambda2 - avlambda*avlambda)/(m-1));

fprintf (fp4,"%e %e %e\n",
(double)param.R, (double)avlambda, (double)E) ;
printf ("%e %e %he\n",
(double)param.R, (double)avlambda, (double)E) ;
}
fclose(fp4);
}

int equations (long double *xo_p, long double *yo_p,
long double *zo_p, long double *xn_p,

long double *yn_p, long double *zn_p,

long double *dt_p, struct parameters *param_p) {

*XN_p
xxo_p + (- 10 * ( *xo_p - *yo_p )) * *dt_p;
*yn_p
xyo_p + ( - *xo_p * *zo_p + param_p->R * *xo_p - *yo_p )
* *dt_p;

*xzZn_p =

xzo_p + ( *xo_p * *yo_p - ( 8 / 3 ) * *zo_p ) * *dt_p;
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long double abs_ld(long double x) {
return x>=0 ? x : -X;

3
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